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7Dc/5 Using a 

branching key

Name Class

1 Use this branching key to identify these two
breeds of cow.

?

Does it have a long neck?

Are its front legs longer
than its back legs?

Yes

Does it have triangular
'plates' on its back?

No

Yes

Brachiosaurus

No

Gallimimus

Yes

Stegosaurus

No

Tyrannosaurus rex

Dinosaur 1

Dinosaur 2

Is the body more than one colour?

Does the body have
long or short hair?

No

Does the animal
have a black or white face?

Yes

Short

Angus

Long

Highland

Black

Russian
black pied

White

Friesian

Cow 1

Cow 2

Cow 1 is . Cow 2 is .

2 Use this branching key to identify these two dinosaurs.

Dinosaur 1 is . Dinosaur 2 is .

3 Make your own branching key to identify four people in your class.
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